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ﬂzml‘mm fQI 1ta I&'.i' R‘md akefaﬂm;m.w possage
rargfully and answer the questions given below £, Certain

words (phrases have been printed in bold fo help you

focate them while anewering some of the questions.

Onee upon a time there lived a vicious king, Raja
Shankara - short-tempered and temperamental. "God T
am”, he smd to his image as he staed into the mirrer
everyday, many times a day. He was obsessed with him-
sell. Hi loved no one but himself, He was blinded towards |
the injustice in his kingdom because he had little time for |
his subjects. He wasted most of his time in pouring milk
and honey over himself.

Interruption in his possessed lifz was dealt with stern
raprimanding and sometimes on petty issues he would |
behead his servants. Provoked by his evil adwisor
Twishar, he went on with his sefindulped life, unaware of
thi plot his very devoted advisor was planning, A plat ta
dithrone the king, rule tw kingdom with his wicked ways
only to harness wealth and the reputation of & king. :

One morning the king was on his. usaal morning
horaehack rounds but returned to the palace with an
intense Jook ont his face, He locked himself inside hie pala- '
tial rom only to unlock it at sundown. Just as the doors
eracked open and Raja Shankara emerged from it, his
wife rushed to embrace him. She feared a damaging inci-
dent had soourred,

The king spoke seldom that day and awale thefe
day to make a proclamation to his servants and sufe
The whele kingdom feared what was in stors f
from their angry king, But to their surprise hazai
gathered, "From now on I will be a differant ki
er and a patient king." ’

True to hia worda from that day on th
turned on & new leaf, he cleaned oat the e
injustice in & tendér manner with p
renew the person from within,

One fine day his evil advisor gathert
thee reasan for his paradigm shi

When [ went on horssback
ngticed a dog brutally
sneak into a hole only af
her for life. Mo far, e

up a sharp stong
Bleeding profus

walked on, heSh
his hm.rl

T 5.nth¢ﬂ-uga aya,

&give up my worldly life for the
5. I wanted to give up evil in me
Ky r.:nl:!:ll.mterme

i hearted and patient and would noet
endeavour 8 eombat. Thinking how he would plan has

down the remaining steps, bringing his stop with a crash.
He howled in pain only to discover he had broken the
bones in both his legs,

. Only (B)

4. Only (A) and (B

3 B) and ()

penedLo Twishar in the end when he
af a plan to dethrone Raja

#st managed to be crowned the King after
uecessfullly implementing his plan
fell down a fight of steps and broke both his

What proclamation did the Rajs make to his
subjects T
1. That he was giving up his throne for the better-
ment of the Kingdaom
2, That his advisor would be the King from then an
3. That he would be a better King to them he had
been all this while )
4. That his subjects were not goed enough to
deserve better treatment than what was alresdy
being meted cut to them
5 None of these
4. What did Raja Shankara's wife think about the
Raja's peculiar behaviour that particular day ?
1. Bhe was afraid that something really bad had
happened,

2. Bhe was afraid that the Roja would beat her up
becanse of his unusual moead

3. Bhe thought that he was in his usual scur mosd

4. Bhe thought that the Raja had received threats
to hie life fromhis servants

5. None of thess

5. What was the reason for Haja Shankara's
change in behaviour ?

1. His advisor's words had made him realize his
mistake

2. He had felt bad for 8 poor family oo his tour
sround his kingdom

3. Hie wife had betrayed him and henee he was upset

4. He hed realized that doing good to pesple weuld |
bring good to him

5. None of these

6. What can possibly be the moral of the stnq.r
1. ‘Believe in yvourself
2. Money is not everything in life

attaclk, he stumbled over o step that took him hurling




3. Don't trust people | . .. B. Itwas an unfortunabe way to end a dedicated.

4. Better late than never , | C. He told his employer-centractor of his plans to leaye
8. ﬁsmm‘rmamﬂmm _I ) - _Hiuhhuuhuilﬂmghummhw:amnn i
7 Hwﬁdﬂujnﬂhanhramtaﬂmmuﬂ'i ' life-with his wife and enjoy his extended family:

thuymtmuphdhmhﬁ:nhu:hnn@o&m- ' B An elderly carpenter was ready to retire.
N 2 ] ) i E. -He'resorted to shoddy workmanship and used infiri-

1. He treated all his servants mth respect ' or materigla.

2. He would seold them and sometimes eut their F. The carpeniter s2id yes, but over tiree it was easy to
heads off over trivial issues i ' B&fﬂﬂhilhwt_mnﬂlinmsw]{_

a. Hawulddmwthmﬁmthmﬂuhmm' 16. Which of the following should be the THIRD
to be reinstated sentence after rearrangement ¥

4, He would rob them of all their possisiions ' LA 2B ac 4.D

5. None of these 5E

8. What plan did Twishar have with mp-ﬂ to the
Rnun ?
He planned to take over the Haja's throne
through devicus means
2, He was a loys servant to the Kaja and always
had his best interests in mind ,
3. He had plans to proveking the Rajs into roling
the Kingdom in more wicked ways
4, He planned to to kil the Ra,]amthttmhﬂlpnfﬂm :
HRaja's servants
6. None of these
8. Why did Twishar think that this was the best
time to dethrome tlmrB%;‘u ? :
1. A= the Eajan was sick, ailing and was on his
deathbed :
2, Asbe knew that the Raja had finally lost his mind
3., As he knew that the Raja had become a soft-
natured person and would not attempt to fight.
4. Az he was sure, that he would be able to convinoe
the people of the kingdom that the Raja had
become weak
6. None of these
Directions (@, 11 to 1.3) : Choase the mp.r‘idfgrﬂagp of
words which i3 most similer in mesning fo the

ong (a2l to 25) : Whick of the phrases (1), |

2} t?,.l ur:.d' {4} given below each sentence should replace |

¢ phrase printed in bold in the senfence fo make it grom-

tisally eorrect ? If the senlence s eorrect ag i is given

and ‘No correction iz reguired’, mark (5) as the answer.

21. Her entry to the office party was restrict az an offi-
cal enquiry had been constituted against her.

word /group of words printed in bold as used in the 1. was restricting 9. is restricted
soge. 3. wae restricted 4, iz restricting
11. BEGETS

5. No correction required

. Produces 2.1 _ _ .}
1. Prod "t 22. Rima was at her wits' end trying to figare out what |

B. calls ; .
tah - :
12 STERN uy for ]m- friend's birthday. _
. Bacd o ban 1. at her witting end 2. at her wit ends
- 3 3. to her wil's end 4, 5o wit’s end
. severs . .
13. GATHERED 5. Mt o aipgiod ..
Y. parkiad £3. Pritesh while away his time in playing games on
3. dispersed the computer instend of studving, | _
5:¢ﬁllat.ed L. whiled away his time 2. whiled against his time :

3. whiling away his time 4. while awayed his time
5. No correcton required
24. Mohan had make up his mind sbout going on th-a
warld tour all alens.
1. made minds 2. make his mind
3. make up his minding. . 4. made up his mind
5. Mo correction required -
26. She rushed to the i-tlh.mbutmuld find any trace
of her daughter there.
L not found trace 2. find no trace
3. found not trace 4. finding no trace
. No correction required .
o J'”l' e e Dircetions Qs 26 to-30): Tn.each question below, o
the coicatins i meaningful paragroph; ] sendense with _ﬁ:ur wards prinded in bold fype is glven, |
) . Mﬂnmmwmfﬂ,m (3 e (40, Onenfhe-sefnur
A, The contractor was sorry to see his good worker go - words printed in bold may be either wrongly spelt or, inap-
proprigte in the context of the sendenci, Find ouf the word

Directions (i, 14 & 5

and asked if he could build just one mnrehnma a3 &
peraonal favour.



u.-é:i*h iz wrongly spelt or inoppropriate, if ony. The num-
ber of that word is your enswer, If all the words printed in
bold are correctly spelt and also appropricte in the conlect
of the sentence, mark (5) Le. All correet’ oz your angwer.
26, Discussion (1) is an exchange of knowledge (2)
whereas arguement (1) is o depiction (4) of igno-
rance, All correct {5)
27. He was arrested(]l) for the erime (2) and was
charged (3) with attempt (4) to murder. All correct
{5
28, Commit (1) yourself to lifelong learning (2) as the
most: valuable (3) aset (4) you will have is your
mind. All correct (5)
20, Belive (1) that life i worth (2) living and your
 belief will create (3) the fact (4) All correct (5)
30, The best educated (1) human bing (2) ia the one
who understands (most about the life in which
{4) he is placed. All correct (5)
Directions (Qs. 31 fo 40} : In the following passage
therg are Monks, each of whick has been numberd, These
ruribers are printed below the passoge ond ageinst each,
Five words are suggested, one of whick fifs the blank
appropriafely. Find oud the appropricte word in each case
Onee upon a time, two friends were w(31).. through
" the desert, During some point of the ,..(32)... they had an
argument, and cne friend slapped the other one in the
face. The cne who got slepped was ...(33).. but without
saying anything, he wrote in the sand, "Today my best
friend slapped me in the face” They kept on walking
s(34)... they found an oasis, where they ...(35)... to take a
bath, The one, who had been slapped; got ...(38).. in the
quicksand and started drowing, but the friend saved him,
After the friend ..(37)... from the near drowning, he wrote
on & stone, “Today my best friend saved my life.” The
friend who had slapped and saved his best friend adked
* him, “After I lart you, you wrote in the sand and ...(38)...
you write on a stone, why 7' The dther friend ..(38)...,
* "Whan somieone hurts us, we should write it down in sand
where winds of forgivenass can erase it away But, whes
somenne doas something good for us, we must ..(40)
in stone where no wind can ever erase it
3L 1. crawling 2. spenking 3. swimming 4.
4. dancing
82 1 journey 2. sand
5. hunt
33 1, dead
3. presentable
5. hurt
34. 1. a= 2. until
&, through
35, 1 decided 2. fell
. left '
38. 1. home 2. stuck ™
5 sitting
37. 1. separated 2. ]

question mark {?J h-the following questing 7 -
a1 Jof 3 or Do gap=2

52, 5818 +1B+8="

1. 218 3, ko 3. 208 4, 213
5. Mone of thess

42, 1.4% of 750 + 2.2% of 480 =7
1. 2L.0& 2. 21.1_3 3. 20.35 4. 21.18

& None of these
3 P
43, 401"115— 3 of BT = 7
1.31 2 27 3. 29 4, 26
&, None of these
44, G966+« 12-1824 +T6="7
1. 5.4 4. 3.24
4 11284
4, B3
4. 580
11
4.1 5

9, THAS + 12885 + 112225 = 7
1. 132955 2, 123956 3.132945 4. 123945 .
5. Mone of these
50, BTZO - 4376 + 1245 = 7 + 2785
1. 2713 2 2B23 3. 2833 4. 2733
&, None of these

g —E -—u — T = _i
2

1.32% 2.33% s.88 4.32%
5. None of thesa
1. 88 3 T8 3. 44 4. 39
5. Neme of these
53 420 +28 < 28R+ 02 ="
1. 235 2. 238 B.138 . 4, 138
B. None of thege
B4, 22% 4+ o7 =516
1. 1028 21024 3. 1124 4. 1128
5, None of these
55, 45% of 660 + 28% of 450 = 7
1413 2, 428 d. 423 4. 418
5. Mone of these
Directions (Qe. 56 fo 60): H’ﬁnﬂ:wd&mmmpﬁwnf
question mark (%) in the following number series #

56, 12 i o4 40 *
1. 76 2 72 3. 84 4. BH
b. Mone of these

57. 8 18 88 0 ?
1.138 - - £ 129 3. 159 i, 148
.-E' MNone of thess .

5E. B 17 42 ol ?

1170 2. 142 3140 4, 172
5. Mone of thase '



58 T & B a7 T
1. 844 2174 3. 186 4, 226
&, Mone of these L

G, FB40 G600 240 it)] 7
1. 2 2 18 313 . B2

7L

5. None of these )

75% of a number is equal to three-seventh of
ancther number. What is the ratio between the
first number and the second number respec- |

B‘Mdlnmharmmthmlhtwu ﬂfﬂ;b}r|
140 . What is 30% of that number 7

1. 186 2. 168
&, None of thess

4. 164 4. 182

T

.

Number obtained by interchanging the

af two digit number s more than the ord aI
number by 27 and the sum of the digits is 13,
What iz the original number 7
1. 68 2. 67 3. 76
&, None of these

2% men can complete a job in 16 days. In how
many days will 32 men complete that job 7

1. 14 212 3. 18 4.8

5. None of these

4. 85

tively ? ' Mr. Davar spends 38% of his monthly income on
1. 4:7 274 3127 4.7:12 ﬁnnd,ﬂﬁ%nnd:lﬂmnedum‘hnnnndiﬁun
5, None of these )
A 275 metre long train crosses a platform of
equal length in 33 seconds. What is the speed of
the train in kmph 7
1. 6& 260
3. 64 4, T2
5. None of these
. What is compound interest acerued on an
amount of Ks. 45,000 in two years @ 9 p.c.p.a. 7
1. Ra. 8,600 2. Bs. 8,565.40
4, R, B,464.50 4. Rs. 8,540 iy
. None of these - by -
. Cost of 18 shirts and 45 trousers is Hs. 68,400, .
What is the cost of 10 shirts and 25 trousers 7 hool™ A B C o E
1. Rs, 38,000 2. Rs, 36,000 "
3. R, 34,200 4. Rs. 36.200 Q“‘ 2008 650 | 760 | E20 | BOO | 7HO
B. None of these __2phs T00 | 740 860 | 7RO | 740
8 7 6 4 2006 200 Baih il T T30
Hheliuctions 115 g0 g Mo nmenned 7 2007 | 750 880 | 920 | &40 | 780
in ascending order, which one will be fourth ? | 't:? ] B30 | . Ael 800 | 860 | T70
. 3 47 g 3 4 4 76. Number of students appeared from school E in
11 '] B "B 2004 is mpproximately what percent of the total
5 A number of students appeared from all the
13 schools together in that year ?
Simple intercst accrued on an amount i 112 3. 28 4. 16 4. B0
vears & 12 p.c.p.a. is Bz, 5,520, What is the 5.20
cipal amount 7 77. What is the average number of studenis
1. Bs 6,760 2. Rs. 8,500 3. Es. 5,650 4. F appeared from school B for all the years ?
B. None of these 1. B28 2. D8 3. B04 4,812
. Find the average of the following se 5. Mone of these
148, 88, 184, 166, 96, 122 TR. Number of students appeared im 2006 from
1. 146 2, 14 3.136 school A is what percent of the total number of
6. Mone of these students appeared from school A for all the
. Bhrikant and Vividh sts ﬂ"‘ﬁglﬁl’ltbﬂ ?1 a ]
ing amounts of Hs. 1,385,080 lady 223y 3.&25 d.i'.iﬁ
respectively. If Vividh's
earned by them is Hs 8500 5. None of these
profit earned hy the 78, What is the ratio between the total number of
1. Ra. 17.400 students appeared in 2004 and 2005 together
3. Ha. 16.800 from schools C and I} respectively 7
E. None of these A BL:T8 2 79-84 3. 48:79 d, 7% : 48
o, None of these
e " &0, What is the avernge number of students
appeared from all the schools in 2007 7
1, 848 2, 856 3. 838 4., BA0
5. None of these
81, Lnaaut&lumdah.nme“tmammbanutl-

ful’ is written as ka na da ta' and 'this is strong
tree’ is written as 'na pa sa ka'. How is 'beauti-
ful’ written in that code language 7

1. da 2. ta
5. sa 4, Data inadequate
5. None of these



8% Tn a certain code GIVE is written as '51 8 &' and

FALL is written as '%219%, How is LEAF written
in that ecode 7
1. 5E2% 2. 0B0%
B. None of these

&5, How many such pairs of letters are there in the
word COMPUTERS each of which has as many
letters between them in the word as in the
English alphabet ?
1. None 2. One
5, More than three

4. The positions of the first and the sixth ngltui in
the number 5108235674 are interchanged. .
Similarly the positions of the second and the -
seventh digits are interchanged and so on.
Which of the following will be the third digit
from the right end after the rearrangement 7
1.9 2.0 3.6 4,3
5, None of these )

85, Four of the following live are alike in a certain
way and so form o group. Which is the one that |

3. BE2% 4. 9o1%

3. Twna * 4. Three

does not belong to that group?
1. Wheal 2. Tyre 3 Car d. Doar
G. Gear

#6. Four of the following five are alike in a certain
way and so form a group, Which is the one that

does not belong to that group ?
L 118 2. 85 3.485 4. 75 i
b, 156 !

7. How many meaningful Englisgh words can be
made with the letters EMTA using each letter
only onee in each word 7
1. None 2. One 3. Two
&, More than three

A&, Im a certain code SUBSTANCE is wrillen as
BATRUFDOE. How is TENTHOUSE written in’

d. Thres

that code T
L. SMDSIFTVP 2. UOFUIDRTH
3. UOFUIFTVE' 4. SMDSIDRETH

5. None of thesa
Directions (Qs. 89 to 1) Following guesilogs
bazed on the five three digit npmbers give ;
G1% 364 267 168 &46

within each number are inss
of the following will be

92 do 57): Study the fulloicing infor-
il answer the questions given below:
R, Wand B are sitting around & crcle
facing at the center, [ is fourth to the left of A whe is third
to the right of M. P 15 third to the left of @ who is third to
the left of M.R ie third of the right of W who is second to
the right of B.

82. Who is second to the left of I} ?

1. W 2B

3.Q 4. Data inadequate
B. None of thesi

43. Who is third to the left of P 7

1.M 2D

3R 4, Data inadequate
5. None of these

- 84, Who is immediate right of Q 7

1.W 2D

& B 4. Data inadequate
5. None of thesa

ing pairs represents the
ively to the right of W7

4. Pata inadequate

owing pairs is the second
immediate right of the

4. QB

to the right of B ¥
A
4. Data inadequate

irections (Qs. 98 o 108): In the following ques-

3, Mie symbols @840 and ¥ are used with e fol-

ing menning oz illustrated below:

P # (Fmeans P is neither greater than nor smaller than @'

P § @ means P is neither greater than nor equal to Q.

P @ Q' 'means P is not smaller than Q'

P& @ means P iz not greater than Q'

‘P # @ means 'P is neither smaller than ner equal to &
Mow in each of the following questions assuming the

given statements tp be true, find which of the three con-

" clusions [; 11 .and T given below them isiare definitely

troe and give your answer aceordingly.
98, Statements:
WET,TOMMS$D
Conclusions:
I. WgD
I wéM
I.p#T
1. Only I ia trus
3. Only IIT 15 true
5. None of these
#8. Statements:
F*RRDM MSD
Conelusions:
I. DR
II. D#F
INMM&F
1. Only I and ILare true 2. Only [ and 111 are true
3. Only II and [H are true4, All T, I and IT1 are trae
&, Mome of these
100, Statements:
VeEMM*HBEF
Conelusions:
I F&M -
L. Bav
ILF#V
1. Only I and II are true 2. Only IT and 111 are troe
3. Only I and III are true 4. Al 1T and III are troe
&, Mone of these

2. Only I1 is true
4, Only II and 0TI are trug



101. Statements:
D#EN NGB B*F
Coneclusions:

L F&D

II. N#F

M. N *F

1. Omnly I is true
3. Only I11 is true
5. Omly I and either IT or IIT are true

102, Siatements: -
ESsT.THE EaM
Conclusions:

I. RdM
I TeM
INLEK
1. None is troe 2. 'Only I is true
3.0nly II is true 4. Only III i= true
5. Only II and III are true
103. Statements:
H#N,NS$T.T@B
Conclusions:
L BtM
I H#T
III.LESEH
1. None 15 troe 2. Only I 1s true
8. Only 11 is true 4. Only IIT'is trae
5. Only IT and I are true

2. Only IT i troe

4, Onby edther 1T or I is trus

Directions (Qs. 104 to 1090 Study the following -

arrengement carefully and answer the questions given below:
WI#RGEJETABOI DU 81 HRAVSSET

MP2QE6 _

14, Which of the following is the sixth tothe right
of the mnm-m'ﬂm.theﬂﬂxmdﬂm
above arrangement 7
L& D 3P

arrangement, each of which is i
preceded by o symbols and immediately
lowed by a consonant 7
1. Mone 2. One 3. Two
6. Four

1048, How many such simbols are thepé i

lowed by s number biit not {my
ceded by a number 7
1. None 2. One
5. More than thres
107,

am amup'ﬁhjnhuthc
o to that group T
+LEJR

Directions (@s. 110 to 115); In each of the questions
belner are given three statements followed by three conclu-
sions nwmbered I, IT & 1. You have to take the given sinfe-
ments fo be frue even If they seem fo be at variance from

commonly known facts, Read all the conclusions ana then
decide which of the given conclusions lagically follows from

© the given statements disregording commaonly known facts.

110, Statements:
All petals are trees.
All trees are gardens,
All roads are gardens.
Conclosions:
I.  Some roads are trées.
II. Same gardens are trees,
L. Only I and IL follow - 2. Only IT and IIT follow
& Only [ond I follow 4, AN L TT- and IIT fallow
5. None of thes
1. Emunenm

2, Only I follow
d. Omly 11T follow

Some years are nights.
I, Seme monthe are days
III. No vear is night

1. Only I follows 2. Only IT follow
3. Only IIT follow 4. Only vither 1 or IT1 follows
5. Nene of these

115 Statements:
All cyelas are types.
Bome tyres are wheels.
All wheels nre buses,
Conclusions:
L Bome kuses are tyres.
II. Some wheels ave tyres,
IT1, Bome buses are eycles.
1. Omly I and I1 follow 2. Only I and III follow
B Only IT and I1T folloer 4, Only LI and IIT follew
5. None of these
14 Statements:
__ Some dogs are cats,

S v —— . i

Some cats are horses
All horses are tigers,

. Conclusions:
I Some tigers are cata.
11, Some horses are dogs.
IIT, Borne tigérs are dogs,
1. Mame fullows
3. Only II follow
5. Only 11 and 11T followr

2. Only | inllomrs
4. Omly IIT follow

'.Il.i. Statements:

All ropes are sticks.
Some sticks are hammers.
Some hammers are lakes.

_ Conclusions: o
I Some lakes are ropes. -
I1. Some hammers are ropes.
1. Bamelakes are sticks.

" 1. None follows

3. Omlby IT follow
&, Omly I and IT1 follow

2. Only I follows
4. Only IIT follow



; Directions (§s. 116 fo 120): In eoch of the gquesfions
,g-u-m elow whick ane of the five arsweer figures should come
| m‘irr fhe pmbiem ﬁ;mms if the sequence were m.r:tm.mf H

18 ) Problem Figures

A INTITPAI cnnvlpcﬁi-f SBOPC

Answer Figures

cs. unﬂ'x uFLlnnFcﬁ s00

121, Puuwwdﬂ en.ul:rh UBETs Lo .

1. pet into the system quickly

2. make efficient wae of time

4. retain confidentiality of files

4. simplify fila structures

5. Mone of these .
122, When sending an e-mail; the line

describes the contents of the message.

1, subject L. to 3. conitents 4. cc

5. Mone nftheaa

123 A (m) arograin. that makes the com-
puter easiey (o.use
1. utility pflication
4. network

2. network

' from “‘IEhﬂ;‘d ﬁsk are sent to ﬂ“!
2. floppy disk
4, mother board

iz a named set of characters that have
same characteristics.

type face 2. type style
3. font ' 4. pico
5. Hone of these
7. A pre-designed document that already

hag eoordinating fonts, a layout, and a hack-
ground.
1. guaide £, model 3, ruler 4, template
5, Mone of these

128, Personal computers ¢an be connectd together
to form a !
1. server : 2, Euperehmputer
3. enterprise - 4. network

5. None of these

129, Which elements of a Word document can be
displayed in colour T
1. Only graphics
2. Omly text
3. All slementa :
4, All elemients, bat onby if you have & colour printer

" 5, None of thesa

130. A complete electronic cireuit with transistors

and other electronic mpmauta on n small

silicon chip is called ain)..
1. workstation g ﬂP’U
3, mahnetic-disk 4. integrated cireit ©

&, Nornie of these ~
151, To aceess properties of an object, the mouse
techingue to nseis .

1. right clicking 2. shift clicking
3, dragging 4. dropping
5. Nome Mth.esa
| 132. During the ____ portion of the Information

i Processing {'jfcla,'th-u computer acquires data
! from some source.

1. storage and gutput 3, storage

3. input 4, putput

. Mone of these -



138 The _ of software contains lists of com- 4. Al of these ke L

mands and options. 5. None of these
1. menu bar 2. toal bar 145. A set of instructions telling the computer what
3. title bar 4, fornvula bar todoiscalled .
B. None of these 1. mentor 2, instructor
134. A ____ can make it easier to play games. : 3. compiler *‘-1:'1"3?@-‘1'&“ﬂ
1. mouss 2, joystick 5. None of these )
3. keyboard 4. pen 146. Market Research is required for __
5. Mone of thase 1. deciding sales volume
135. How many diffenent documents can you have i E.danﬁngpmdﬂm'mlﬂ'ﬂ&_

open at any one time T

1. Mot more then thres

2. Only one .
3. Az many as your computer memory will hald
4. Mo maore than your Talkbar can display

5. Mone of these
136, To make the number pad act as directional
arrows, you press the key.
1. shift 2. arrow lock
4, num lock 4, caps lock
5. Wone of these

1237, Marketing con be effected by ____ .
1. bringing in new custormers

2, retaining existing customers
3. selling more t0 existing customers
4, quality pre and poat sales serviee

5, All af these
138, Something which has easily understood
instructions is to be __ .
1. user friendly 2. information 5. Mane of these
3. word processing 4. icon 150, Motivation for salespersom ean be achieved
5. None of these ' ' through __ .

1. high success rate of conversions
2. bettar sales incentives
3, continuous training and updation of knowledge
4. pupport from cperation staff
© 6. All of these
Marketing of Education Loans can be done by
1. appreaching eligible students
2. approaching the parents
3. approaching colleges
4. having tie-ups with Educational Institutes
6. All of these
152. Diversification is wseful for ____
1. attaching more customens
2, retaining exisiting customers
3. inereasing sales volume
4. All of thesa
&. Norie of these
153. Diversification means
1. dividing the market ints mll segments
* & dividing energy of the sales persona
8. marketing of diverse products
4. All of these
5. None of these
1564. Ome of the following is not a function of Ketal
Banking .
1. Accopting fixed deposits 2..Giving Home loaps
3. Giving Eddcation loans 4. Joint ventures

138, Of the 4 P's of maketing, 3 are Product, Place
and Promotion. Which is the 42 P7
1. Price 2 Priging 3. Purpese 4. Pride
6. Pursait
140, What is output 7
1. What the processor takes from the user
2. What the usear gives to the proceasar
3. Wlmtth’epmmumrgntsfmmﬂmmﬂ
4, ‘E'ﬂmtth-:pmcewmmmtha 5
5. None of these
il Immovation in Marketing means
1. good communieation skills
2. good negotiation skills
3. spirited motivation

5. None of these
T 155, The target group for Fixed Deposits is
1. same, nsa vision statement L. all individuals 2. all corporates
3. NRI's 4. Government bodies

2 targeis ' ! d
past af & i ! 5. All of th
3. part of the marketing plan ; EEE



156, Data mining means ___ . 167) Which one of the following books is not

1. same’as database _ written by Ramachandra Guha? !
2. samme a8 data warehowse ' 1) Patriots and partisans
8. market survey 2) Makers of Modern India
4. analyzing the data on customers 3) India After Gandhi
5. None of these ; 4) Gandhi before India
157. ﬂmm d;:ihﬁ :n? 5) India since Independence
;-_Eam ﬁ; m;ﬂ}ﬁﬂg 168&) Which Indian company has tied up with Saudi
3' e il " Aramco and General Electric (GE) to set up

the first all-women business process

4. usafiul for customisation of products i i
5 Eﬂtheae P putsourcing (BPOgentre in Riyadh, saudi
158, ﬁat.a warehouse is Arabia 7
1. a godown : ‘ 1} Wipro - Bires
2. & ghop salling eomputers 3) Cognizant D 64 hns
P T—— . 4) Tata Consulfs > 5) Infosys
4. a eystem where data on customers is stored 169) The Fift} ? ood film based on
I 5. Mone of these' the llf
o : 2) Malala Yousafzai
158, Retail
Bunking means 4) Vladimir Putin

1. Retail shopkespers
5 2, Banks financing to Retail Traders
3. Bame a8 Universal Banking
4. Giving loans to corporates ) ‘
b. Bank services to Individual customers

160, Education Loans can be more mﬂ,‘,ﬂf oy Fhich country has withdrawn from the

pimonwealth in October 20137

1. Door-to-door campaigne2. E-mail contacts: anda 2) Gambia 3) Mozambigue
3, Diversification 4. Tie-up with colleges 4} Senegal 5) Maunt_ms .
5. All of these p India is a member of which of the following
GENERAL AWARENESS ey
138C0O  2) ASEAN 3) APEC 4) OPEC

161} The Bharatiya Janata patty emerged as the
Largest party in the just concluded 16"
Loksabha elections. How many seats di
win?

13272 2)276 3)280 4)282 3)

5) None of these

173} Which country conferred its highest civilian
honor the Chevalier de la Legiond Honneur on
activist Anjali Gopalan for herwork on
transgender and HIV-positive patients?

62) Russi Mody passed away on May 16 : 1) Spain 2) Portugal  3) France
at the age of 96.he was the former chab 4) Germany 5} Italy
okl 174) The 2013 Anna politkovskaya award was
1) Tata Group 2} Tata Steel given to ?
4) Tata nc:!n,sult?m:}' BEIVICES i 1) Malali Jova 2) Halima Bashar
163) Geo TV is facing a blasphiemy/case={{ Is.g 3) Aung san sun kyi 4) Malala Yousafzai
television channel basef i 1 5) Eleanor catton
1} Afghanistan Ard ] . 175) What is India’s rank on gender gap index for
3} Pakistan #) Sapdi Ardbia 5) Qatar the year 20137
164) Who was SWOI 133 23 Ehitt Minister 1)101 2)102 3)103 4)104 5)105
of Bihar on Mg 176) Which state topped in communal riots
; {ry o between Jamuary 2010 and march 20137
1) Dula!cl'fh Ll ; - 1) Uttar Pradesh 2) Madhya Pradesh
3) Ramai & 3) Maharashtra 4) Karnataka
5) Dampar e 5) Andhra Pradesh

165) Naba | Wl g ' ' ' 177) Which country has forty percent of the

inis) h ot world’s child brides ?
. 1) Ethiopia 2} South sudan 3) Sierra Leone
eghalaya 3) Tnpura 4) Yemen 5) India

5) Arunachal Pradesh 178) The 2013 edifion of the Nee National Games
166) Formulrgng preat sir Jack Brabham died on . were held in 7
may 19, 2014. He belonged to ? 1) Hyderabad ~ 2) Pune  3) New Delhi
1} England 2) Germany 3) Argentna 4) Mumbai 5) Kochi

4} Australia 5) New Zealand



179} Who is the oldest boxes to win a world title ¥
{ He won the International Boxing  Federation™s light
heavy weight title at 48 vears)
1) Beibut Shumenov 2 Tavorns Cloud
3) Jean Pascal 4) Bernard Hopkins
5) Karo Murat

180) Velo d'Or award is given annually in which |

of the following sports?
1) Archery  2) Boxing  3) Cycling
4) Football  5) Golf
181) Tilaiya dam was constructed across the
Barakar Riverin?
1) Bihar  2) Jharkhand ~ 3) Chhattisgarh
4) Odisha  §) Uttar pradesh
182) Which of the following is also known as
consumer banking or personal banking?
1) Corporate banking  2) Business banking
3) Investment banking 4) Retail banking
5) Wholesale banking
183) The official change in the exchange rate of
domestic currency is called?
1) Inflation 2) Deflation 3) Appreciation
4) Depreciation 5) Revaluation
184) Porcine Reproductive and Respiratory
Syndrome (PRRS) is in the news recently.It is
a Disease of 7
1) Poultry 2) Pigs 3) Cattle 4) D-:.‘rgs 5) Cats
185) Which one of the following banks was
included In the second schedule to the
Reserve bank of India Act,1934 on
May 21,20147
1y Axisbank  2) Yes bank 3) Indusind b
4) Bharatiya Mahila bank  5) None of
186) Anandiben patel took charge as the fi
women Chief minister of which of the
following states On may 22, 2014”
1) Maharashtra  2) Gujarat 3) Raja
4) Goa 5) Chhattisgs

ATMs with Braille Kk

1) Junel, 2014 2)

4} January 1,201
183) Former MNew york

190} SIMBI:'.}{ 14 was started off the Andaman and
Micobar Islands on may 22, 2014.it is an
annual joint naval exercise conducted by India

and?
1) Saudi Arabia 2) Spain  3) Singap»:n:

4) Sri Lanka 5) South Africa
191) Pakistan’s teenage education activist malala

yousafzai did not win which of the following

prizes/ Awards in 20137

1) Sakharoy prize

2) Peter j. Gomes Humanitarian award

1) Clinton Global citizen award

4) Anna polotkovskaya award

5) South —south award
192) G-4 countries apé pushing for the inclusion of

more countries i ed nations security

Minance minister 3) president
rer 5) Planning commission
e winners of the clinton Global

alal¥yousatzai  2) Bunker Roy
Rafiq kathwari 4) Both 1 and 2

Hich one of the following Rajiv Khel Ratna
award winners is not a shooter?
1) Anjali Bhagwat 2) Anju bobby George
3) Rajyavardhan singh Rathore
4} Manavjit singh sandhu 5) Gagan narang
196) The Karera wildlife sanctuary is situated in
the shivpuri district of ?
1) Uttarakhand 2) Maharashtra 3) Gujarat
4) Uttar pradesh 5) Madhya pradesh
197) Which Indian social activist founded the
barefoot college in the village of Tilonia in
Rajasthan in 19727
1) Medha patkar 2) Ramesh Agarwal
3) Sandeep pandey  4) Bunker roy
5) None of these
198) The p5+1 is a group of six world powers
which joined the diplomatic efforts with Iran
with regard to its nuclear program. Which
country does 1 refer to in p5+1 7
1) India 2) Brazil 3) Canada
4) South Africa 5) Germany
199) The Reserve bank of India beca.mc a state-
owned institution in 7
1) 1934 231935 3) 1949 4) 1950 5) 1947
200) According to the first Global slavery Index
published in october2013 which country has
the highest proportion of slaves in the world?
1} Mauritania 2) Haiti 3) Pakistan
4) India . 35) Nepal .
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